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Finding Missing Addends

Directions: Solve problems involving addition.

W3+ =7
[1}
[ 1]
[ 1]
n P + 9= 1%
[1]
[1]
[ 1]
"7 +7=10

10) Doug has Il pencils. S pencils are green. The rest are red. How many pencils are

n red?

ID There are 9 bubble gum in a jar. 4 bubble gum are orange. The rest are yellow.

28 + =12
5 _ +12=18
8)6 + =8

S+ =1l

How many bubble gum are yellow?

12) There are |12 frogs. Some of the frogs are in the pond. 6 frogs are on the

Y+ =9

grass. How many frogs are in the pond?

39+ = 20
6) +6=13
D7+ = 15




